NurerpupoBanue uppail

I. MHTerpansl, cogepxaliue Kksagpat
TPexX-fIes: dx
\/ax2 +bx+c

jw/axz +bx + cdx

Heobxognmo: 1) nog pagukanom Bbl

KBAORAT: px + ¢ = a(x’ +2x +£) = a|:(x+
a a

2) coenatb =/

BPESéERYRPabnnuHOMy

Ex: nHTerpany.

J’\/4x +2x+1 | j\/

dx _J‘
4(x2+lx+l) 2
2 et

dx 1
_.[ = 8 2
\/(x+—9:t+ =) 4

x+l+\/(x+l)2+i +C
4 4 16

=lln
2




I1. JlpoOHO-nuHEeHAas TOACTaHOBKA —

HTerpasl THIA: d d
Hapo1) coenatb ="
E?@gggTHv? E%@'lquomy
Ex: nHTEerpany J- dx

(x+2)§—(x+2

‘[3\/(x+2)2 —x+2 [

dt

I It%t—l)z o)

5 2 20
vdt _ o tdt _6I(t )+1
(t=1)

2
= 6j(t+1)dt+6jt1—1dt — 6(%—t)+61n|

=3(§/x+2)2 —68/x+2 +ln‘6\/x+2 —1] i




II1. Tpuronomerpuyeckas OACTaHOBKA —

NHTerpansl

_[R(x;\/az —x)dx IS

=gy noacTaH
2) Ceect
nHTEerpa

= 4 — x? x=2sint
J. 2 dx =] ==

¢ dx =2 costdt
1 sin” ¢ cost

—_[ costdt:j ——-costdt =

sm t SiIn~ ¢

=tgx+jdx= tgx+x+C




